tHE - EFL B/ B/ (REE > EEER S sz e

S (754 @) i8]
& x= ErEEE] FESE | WHHERED) D | RCGOW/11/21. [ RCG02/06/12/22
RCGO1 RE TACO1 10 | é 4x14
_RLLUT . T 4
RCG02 mRm | O35 | SS400 g S e : e
RCG06 0Cr18Ni9|SUS304] — 20 | 0 4RI [M6x20
RCG11 | #mfER ) EE | TACO1 5 %5 [M6x25
RCG12 ks Q235 FRMRER| TAC21 3 21 ITAC21 MEx30
Reeo1 | SS400 &= m A~ 5 [M8x35
RCG21 pr— RZ | TACO1 o i
RCG22 " FEBRRER| TAC21 M10x50 10x50
BFLE 1278 fRER
RCG01/02/06 RCG11/12 RCG21/22 %/
(D) 2-d (D) 2-d _2d_ (D)
FLdRZ J/RFdRZ TFLARZ ‘ ‘
(;‘y‘wJ =z © @) R
wl O X 0l O olw <L
D) N L D) @ ‘ ‘ ‘
N X ki N INES < [\ L
® AA-Z ® /ﬁ D1 ® /3A.z
A A
fa F fa F A
f1 f2 f1 f2 F
H_2-M H_2-M 2-M H__ f1_ _fo_|f3 4-b
\ FLb1iFh
PENITS s L1 = NI AN
i il i
S =5 (i (Y e el
IO O B i g DA
4b / D 4-C2 4-N \Diz 4-C2 " \Dur \4-C2
TFLb1iFh ) )
MetE: B—0A
@ E7 AR B
B
g == A|lB|C|F | fi|f|f|G|b|b|h|N|H|M|X|S|d|d|z|w
10 [°3975] 40 28 | 9 [19 9
5 y s}
5%%? 12 Tt 421 20 | 19 [ Sotqov0] 6 | V1| 45| 8 5 (M4 (o M4 | 475 9.5 4.5| 8 5
ReGo2 |15 1° 50 | 22 | 21 | 38 |14 |24 12 | 55| 92| 6 M5 | 12 [M5 | 5510 | 55| 95] 6 | ,
20 60 | 30 | 29 | 45 [17.5]27.5 16 15 15
RCGO6 55|+t "5 | 35 | 34 | 50 |20 |30 | > [ 20] &€|™" TME 7 Me |7 50 86| | 7
30 80 | 45 | 44 | 60 [22.5[37.5 25 21 25
) _
&%‘gj 35 | 1 85|50 | 49 | 65 [25 |40 - R 9 IM8 o me | %550 |9 |14 9
40 |*$°%[100 | 60 | 59 | 75 |30 |45 35 26 12|35 3
RCG12 55 110 | 70 | 60 | 85 1325525 2° 45 1 |15 " [M10 a5 Wi0 145 (40 11 175 1
@ RER
=
__BS A|B|C|F |fi|f|f|G|b|[b|h|H|M|X|S|d|d]|Z|W]|Di|h
[ E] DH7
10 ['3°°| 45 33| 14 9 6
12 o481 2° | " [Sar15] 10| 6 | 10] 5|8 |46/ 55 M4 |475 95| 5 8 |46 a1 14
15 | o 58 22 | 21 | 44| 20 [ 12 | 7 [ 12| 6 | 95| 55| 12 [M5 | 5.5[ 10 6 | 95/565| , [ 1116
20 71] 30 [ 29 | 56| 25 | 16 16 15 15 16 | 24
iggi; 25 +g,021 821 35 | 34 57 20 20 75 20 7 |11 6.5 17 M6 7 20 7 |11 6.5 21 29
30 94| 45 | 44 | 76 25 | g [25] g [44 | o [2 95|25 26 | 39
35 105] 50 | 49 | 87| 35 | 28 28 24 |M8 | > [30 9 (14 | 9 31 | 44
40 |0 116 60 | 59 | 96| 40 | 30 130 T sy |28 12|35 3 [ 36 | 54
50 152 70 | 69 | 129 58 | 38 38 : 33 |M10|14.5 140 | 11 [17.5]11 46 | 64
@ BFLE/ARFE @ RER
=) RS e ey
@ @ | ow - T / @ e -
[€ 1) 20 10 45 B 14| 5o
RCGO1 12 75 RCG21 ——=y T ” 18 [100% | BITRMN 5
BRERTH RCGD2 —= 0 RCez =28 KB GT)
RCG02—D10 RCG22—D12

e - A
HRHFHER R R



	页 6

